o 7
@6 ” fyra decimaler, ordningsf6ljd med parenteser

namn: Datum: Poéng:
36(5,4—-5,4)~6= (6,2+2,8)x4,2+6,4=
(6,7+3,4)x3,3—4,3= 3,9—-5,5(5,9—-5,8) =
(3,3-3,7)x2,3-2= (6,4—4)x2,4-53=
(3,3+4,3)x4,3+5,9= 36(2,1 —4,5)+6=
(10+5-4,3)x6,6 = 3,3+5,6(6,5+5,2)=
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o 7
@6 ” fyra decimaler, ordningsf6ljd med parenteser

namn: Datum: Poéng:
36(5,4—-5,4)+6=0 (6,2+2,8)x4,2+6,4=44.2
(6,7+3,4)x3,3—4,3=29.03 3,9-5,5(5,9—5,8)=3.35
(3,3-3,7)x2,3—-2=-292 (6,4—4)x2,4-5,3=046
(3,3+4,3)x4,3+5,9=138.58 36(2,1 -4,5)+~6=—144
(10+5-4,3) x6,6 =—15.18 3,3+5,6(6,5+5,2)=68.82
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